EARAROBREBRT —5 XN—ZXBISH—F 20224098308 (&) 6MiAntE5H

”1;7'?% C1— YSZ—& BRI
[AXE%) 1% :1,500,000  ~ 23#&:600,000H  33#%:375,000H . 43#&:225,000H 5 i&:150,000 9§
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
—— u BEES : -2-2- - KEHRE (08
115 6| ¥T3HZ=7 4D 1'(4_3)'5 M ’ (4_718) i -2
RIE—UR BUFPSARX /AN =N e
- - ) : 90 - KOEE (118
Nz H 5 B 1.21343.1 9-9-9-8 |39.7 1 f+729) =l
R:N(40 B:XV/RILA %S
. IV isdllE= : -3-3- - JISIE— (ats
31710 TLMYVTE—h "3 B 1('14/42')2 A ! (ﬁ?) SHRS o
RIVIRI—ZZRI— F:TO-FFr IR #BT7—L
< 4 4 | BEE 1:44.2 7-7-8-7 | 40.0| — 8 475 | WWEEK (#atE)
s 7 EVF 56.0 e o |EEA
R:ALYITSvoElL B:I7+r—EB7E—L =a)l s
S n— EHAES : -12-11- - WEE—0E (04E)
48l EFF—25 w0 7 2 1(%};15)2 12-12-11-10| 39.6 1 (5392) %Eﬁ—ﬁf
R:OY—RK B:RAN—LRYYIY NPPELL:= v A NPT
elgl ol T ryEy 'y 7 gﬂlg% 1(74;1:)3 10-10-10-9 | 39.7| — | 10 :1+93(; §;’§ﬁ“*§’
RPUSANIVE BN—FVIT4ITY #H shiE
\ REEZ : -5-4- - KERE (Wois
7 3| FIqUF B4 e 1.616.5 6-5-4-4 | 40.8 6 é&{) (g) 77(4‘/)
R:VvRIVTA §:F9—U EBRT7—L1L
8 g | PRAFFvIFTY o4 Eg%%%;u 1( 74‘11:? 4-6-5-6 |40.6| — | 7 2:)42) gﬁg (HB18)
RiNZ—k1—RX 8:9VIVIN—hk RS
<, = g [FEspEE] : -8-7- - MRS (1018
9 2 FISIFINAF % 7 54 1(.34/44.)7 8-8-7-5 | 40.7 9 (4_562) Nt )
RNTVIRSAY B:7ARILNAF AR
> > AEIRAER : -11-12- - RAR (fofs)
10 4| RUVHBUTA 4 3 R (11415/2(; 11-11-12-12| 40.2 12 :267) i
KRRy I—9ILYI B NILSUIY THEMIS
— N AHIEE :45. -1-1- . - FHEE (Mois
1lsls W=TI—)LY A1 4t 6 o 161?36 1-1-1-1 | 42.2 2 (4_941) (HE)HL/"J(QZ)
RiFVITARXANXN B:HIRF4—5 ERIY R
o — o JI|SIEXEB : ~4—-6- - W&z (fatd)
111 vhOTsS—R 5 o (155?5;%) 5-4-6-11 | 46.6 5 (4+617) EEE%% A
RiIALINSRYIR B:RILFIXVT HEI77—LA
@ 11— —®BIEfI
13—3F— 5,10,6,8,1,3,7,2,9,12,4,11
23— — 5,6,10,1,3,8,7,2,9,12,4,11
30—7— 5,6,10,3,8,1,2,7,9,12,11,4
43— — 5,6,10,3,2,8,7,9,12,11,1,4
o ILRE
B B 6 5404 JA R 6-9 290M4 % 5E 5-7 280M4 3EE 6-9-10 1,620M
7B B 6 170 6-10 690 B 5-7 560 3EH 6-9-10 9,120
9 120 9-10 390 /B & 6-9 6504
10 180 =51 6-9 1,600

ABIC OV TRUTEREERRODDZE. THRIIZEL.



